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Sr: 20032022-2595

11-PLUS
SATS {ﬁf)
GCSES \Z

1) Round 5.889345459 to the nearest 2)  Increase 160 by Y/, 3) (4x62) +(1x 1%
whole number.
Answer: Answer: Answer:
4) 5) 'What isthe probability of rolling a 6) Find perimeter of
number less than 4.when rolling adice triangle
b b a=6319m,b=
‘Name the type of angle. 7239 m
a
Answer: Answer: Answer:
7)  Decrease 205 by 40% 8) 25+ %1 9) Round 0.760055691511466 to 14
decimal places.
Answer: Answer: Answer:
10)  Increase 254 by 5/, 11) 12)  Share59intheratio 24:35
Find the next three numbersin
the sequence
0112358 , ,
Answer: Answer: Answer:
13) Find perimeter of 14) il 15) 67.7x20.2
b rectangle having 2
sidesa=9876in 5
a and b =8800in n
Answer: Answer: Answer:
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Answer:

to 445

Answer:

16) 812113 x 39%, 17) Find area of 18) 1175+ 47
triangle
b a=3647ft,b=
8165 ft
a
Answer: Answer: Answer:
19) 6427.2-6678.9 20) 21) Convert the following fraction into a
Find Volume of mixed number: 80/,
Hexagonal Pyramid
7 32
Answer: Answer: Answer:
22)  Share32intheratio 13:19 23) (2x17) + (1 x 5°) 24) 415/, -+ 1419
Answer: Answer: Answer:
25) 26) Convert the following mixed number 27) 9258 + (-5384)
3824~ 2411/,  into an improper fraction.
Volume of Cone
36
Answer: Answer: Answer:
28) Round 21.326394 to the nearest 10 29) Find the percentage change from 100 || 30) 7 Y,-38 2,

Answer:
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31) 6288 + 524 32) Convert thefollowing fraction into a 33) 4420 + (-52)
mixed number: 58/,
Answer: Answer: Answer:
34)  8943.7-7033.6 35)  Write5x 10'1 asanormal number. 36) Increase 42 by 75%
Answer: Answer: Answer:
37) b 38) b 39)  8253-(-6682)
a 0] c a 0]
Measure angle boa Measure angle boa
Answer: Answer: Answer:
40)  45x 1000 41) 44412 42) 12.9x 155
Answer: Answer: Answer:
43) Find perimeter of 44)  64x1000 45) 22 34-37 Y,
b rectangle having
sidesa= 7300 ft
a and b = 3477 ft
Answer: Answer: Answer:
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46) Convert the following mixed number
298/, into an improper fraction.

Answer:

47)  $194.89 earning 6% compound
interest for 3 years.

Answer:

48) Find the median of the following set of data:

38,4, 39, 25,12,19, 34, 8,31,6, 3,
11, 28,15, 21, 14, 29, 11, 2, 12

Answer:

49) Find the median of the following set of data:
38,4, 39, 25,12, 19, 34,8, 31, 6, 3,
11, 28, 15, 21, 14, 29,11, 2, 12

Answer:

50) /

‘Name the type of angle.

Answer:

51) Increase 258 by 58%

Answer:

52)  Increase 258 by 58% 53) Factorise 5d2 + 25d + 20 54)
39_s~
Volume of Cone
39
Answer: Answer: Answer:
55) Anamount was decreased by 7% to 56) U3x 24, 57) 1/
$221.00. Find the original amount. 32
Answer: Answer: Answer:
59) Find area of 60) Increase 136 by ¥/gg
Find VVolume of b rectangle having
Square Pyramid sidesa=8838in
a and b=4853in
Answer: Answer: Answer:
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61) 3140 Of 280 62) (1x62)+(1x17) 63) Solvel7j2+7j-15=0
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
64) Decrease238 by Y/, 65) (5x68) + (2x 109 66) Find area of
b rectangle having
sidesa= 6436 ft
a and b = 6213 ft
Answer: Answer: Answer:
67) (-6734)+74 68) 912/ g 69)  7859.5-169.7
18
96
Answer: Answer: Answer:
70) (9x16)x 7+ 12 71) 5088 + 53 72) Find area of
b rectangle having
sidesa= 7173 ft
a and b = 5881 ft
Answer: Answer: Answer:
73) Find perimeter of 74) 8779 x 9491 75)
b rectangle having Find Volume of
sidesa=9030in Cylinder
a and b =5229in
Answer: Answer: Answer:
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76) $347.04 earning 5% compound
interest for 1 years.

Answer:

77) Find the percentage change from 152
to 114

Answer:

78) (19+2)x(14+9)

Answer:

790  51x88.1

80) Write 8 x 102 asanormal number.

81) Convert the following mixed number
1319/, , into an improper fraction.

Answer: Answer: Answer:
82) 83)  7946.4+ 616 84)
Find the next three numbersin
the sequence
Name the type of angle. 53,46,69,62,85,78,101 , ,
Answer: Answer: Answer:

85) Convert the following mixed number 86) 87) Convert the following fraction into a
296/, into an improper fraction. Find Volume of mixed number: 78/,
Triangular Pyramid
Answer: Answer: Answer:
88) 89) Find the range of the following set of data: 90) Solve by factorisi ng
40_, Find Volume of Cone 0.9, 16, 5, -12 g2 +10q+16=0
)
36
Answer: Answer: Answer:
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91)
Find the next three numbersin
the sequence
0112358 , ,

Answer:

92) Solve2q?2+7q-2=0
Round your solutions to 1 decimal
place.

Answer:

93) Share 58 in theratio 18:40

Answer:

94) 6100 + 100

Answer:

95) 6100 + 100

Answer:

96) 28 5,5-35 3,

Answer:

97) 7344 - 3447

Answer:

98)  Write 2 x 107 asanormal number.

Answer:

99) A number was shared in theratio
90:25. The smaller share was 85.
What was the larger amount?

Answer:

100) Convert the following fraction into
amixed number: 59/,

Answer:

Total: /100
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16 2) 170

8) 1188/, 9) 0.76005569151147
15) 136754  16) 355%¢g
22)1:31 23) 3127
20)345%  30) 62Y

36) 735 37) 146

43) 21554t 44) 64000

50) Obtuse  51) 407.64

57) 2 58) 18772

64) 231 65) 2000000000
71) % 72) 421844131t
78) 79) 4493.1

8s) 3%, 86) 6138
32)_3?_8: 03 gg1:57

99) 306 100) 1135

3)145
10) 264

17) 5759332.639902ft
24) 1245/3808

31) 12

38) 146

45) 30%g

52) 407.64

59) 42890814in

66) 39986868ft

73) 28518in

80) 800

87) 745

94) 61
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MATHS WORKSHEET %«'

Answers:

4) Obtuse

11) 13,21,34,

18) 25

25) 51572.38500133
32)2

39) 14935

46) ¥/, ¢

53) (5d + 20)(d + 5)
60) 142

67) -91

74) 83321489

81) 204,

88) 13571.680263508

95) 61

GEMERA

51,

12)1:58

19) -251.7

26) 371/15

33) -85

40) 45000

47) $232.12

54) 62118.711539431
61) 6

68) 9-36

75) 27344.422456846
82) Acute

89) 28

96) 14%/,

Sr: 20032022-2595

6) 20797m

13) 37352in
20) 35472.400539011
27) 3874

34) 1910.1

41) 416

48) 4.5

55) $205.53
62) 37

69) 7689.8

76) $364.39
83) 12.9
90)gq=-2o0r-8

97) 3897

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7)123
14) n18

21) 2%/,

28) 21.3

35)05

42) 199.95

49) 45

56) 4%/,
63)j=080r-12
70)

77) -25%

84) 94,117,110,
91) 13,21,34,

98) 20000000
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